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QUESTION 1

Your router is receiving four BGP route advertisements for the 192.168.100.0/24 network. By default, which route
becomes active? 

A. Route A, which is learned through EBGP with an AS path of 8001 and a MED of 175. 

B. Route B, which is learned through IBGP with an AS path of 9900, a MED of 150, and an IGP cost of 15. 

C. Route C, which is learned through IBGP with an AS path of 8001, a MED of 100, and an IGP cost of 10 

D. Route D, which is learned through EBGP with an AS path of 9900 and a MED of 200. 

Correct Answer: C 

 

QUESTION 2

You are the administrator for a network that uses IBGP. As the network grows, you must examine options to support
increased scale. Which two scaling options should you consider? (Choose two.) 

A. route reflection 

B. areas 

C. zones 

D. confederations 

Correct Answer: AD 

 

QUESTION 3

Click the Exhibit button. 

In the exhibit, R1 has a loopback address of 192.168.1.1. Its loopback interface is included in OSPF Area 1.Which two
statements are true? (Choose two.) 
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A. R1 will advertise the loopback address in a Type 1 LSA. 

B. R1 will advertise the loopback address in a Type 3 LSA. 

C. Area 0 will see the loopback address in a Type 1 LSA. 

D. Area 0 will see the loopback address in a Type 3 LSA. 

Correct Answer: AD 

 

QUESTION 4

Click the Exhibit button. 

Referring to the exhibit, which two statements are true? (Choose two.) 

A. The VPN uses LDP signaling for VPLS services. 

B. The VPN uses BGP signaling for VPLS services. 

C. The PE and directly attached CE are multihomed. 

D. There are only 2 PEs with VPN membership in the network. 

Correct Answer: AD 

 

QUESTION 5

Click the Exhibit button. 
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Using the configuration and topology in the exhibit, which statement is true? 

A. Each LSR randomly selects the physical path to reach the loose hop R5 for the LSP. 

B. Each LSR uses the IGP to select the physical path to reach the loose hop on R5 for the LSP. 

C. Each LSR selects the lowest next-hop IP address to reach the loose hop on R5 for the LSP. 

D. Each LSR selects the highest next-hop IP address to reach the loose hop on R5 for the LSP. 

Correct Answer: B 

JN0-660 PDF Dumps JN0-660 VCE Dumps JN0-660 Study Guide

Powered by TCPDF (www.tcpdf.org)

JN0-660 PDF Dumps | JN0-660 VCE Dumps | JN0-660 Study Guide                                4 / 4

https://www.geekcert.com/jn0-660.html
https://www.geekcert.com/jn0-660.html
https://www.geekcert.com/jn0-660.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-660.html
https://www.geekcert.com/jn0-660.html
https://www.geekcert.com/jn0-660.html

